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CDS (1) EXAM:2018
T q STIh! g THEMUT Yitaeshl @It &l T gl \Y 99 a6 T @iel
Zisft.dl. : GTHY-S-XGK | Tieror gieaeT g
HA T
TRI8T0T gieent A
0204653 ATAT [T —
Uy ; 9 gu qutisk : 100
FFIW

1. Titen WY R & g% 918 39 39 wderon gitae Y ugare orava o o b 3ER W e v, wer @ ge
TN UB IHUET UVATY MG A § AR TET R, 9 3@ W udewr gieent € 95d @ )
2. F9a1 o @ fF OMR IW-U=s # 3Ifa T ® I TR 3R gdieror gierem og@a A, B, C 91 D & &= &
Ta famn fredt o o faeerfe & w3 o geag &+ o eierl sufigam <6 R foeet ot wam < 9o /e
# feufa 4 so-wa=w fm = R smom)
3. @ Tigw g W WY # U U HiEE A OTR AUAT SITHAE
foram 21 ol giee W iR §9 7 fod)
4, =4 gitew gfce § 120 weAw (w) fu e ) wde e Bl of ofisht < § awr 31 wew wee # AR yege
(3m) fou mr ¥ T @ T IR B A o, BR A9 Iw-wd w ifha wen =wd ¥ iy e ten ol B uw |
e T HE €, O 98 UeT ) @ifEd S enoeR) watm o | e g % o e v f wege g B
5. el g axft geget e ¥ Ry U Iw-vEs W o# oifdd =9 §) sw-wme A oy u w3
6. avit YTl % 3 THH g
7. 08 Uea f 9 wliem gieqe & fafa gwmn & SegeR ST W Afhd HT IE W, TR 9T TH-TF & HY
U TR % AR FB faam w-wEs # 3 R
8. W 319 Tft WegTl H IW-TFF § W F A8 qY] [HE F G W HAA IW-UFAH A G I 0 394
a1y qhae gfee o s argEfa R
9. %= wM % fau e, wlaw gfemm & 3 # dom 8
10. Teq SOt & foru gue
TEGHE Uy-uAl § SEgaR 5 iU e Tew sw0 % T que R s
(i) v e & foe 9 9 W 81 3efiear 30 s v % fog fie e ww e awm % fore wen 'g fraa f
MU 3R 1 ves-TaETE T % ®W A W Smom)

(ii) afs = Iofiear & B i IW @ 2, q@ W TeAd IW A Sem, =Y e e It § 8w IR ad g g,
i oft 39 yw & fou swgwger & @ @ =1 avs fen smom)

(iii) afe Infrear g #E U B T R e § syl Iufear gr W A femn @ R, @ 38 v F fow wE gue
T8 e s

W AR MR T8 THYUT YiereT Wied @ 9 ®El W a9 9% T @

Note : English version of the instructions is printed on the back cover of this Booklet.

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

1. S & 9UIH W TH Gk | g Ahs 19

% g 3099 B @ & S g & IHT B g
A 21 F AR 71 B Hehd §7

(@) T AR TEGEAINGR 3T+
(b) Befifiem FrEie o FRgEEi I
(c) BT IR ATdsH

(d) T 3R a7 TSl 3

2. = fau mu wfiEww % AR CH, & 20 A

& 0, & 2-0 Al | AfHfwa =1 & CO &
e #rer e T 1 @R 87

0}14(g)+éo2 5 CO+2H,
(@ 20
(b) 05
) 2:5

(d) 40

3. fi=fafga & @ fo @4 sl & 79

srfsfsran BIggiom 9 Seaw wUl?

(@) Hfifiem 3R ESEeE s

(b) T I T AEILR I

() ¥wm e it TegEeiiE

(d) e IR a1

GTHY-S-XGK/41A

4, fafafaa 4 & #9-w afiwew TEgeH,

qMEESH, AR IR HEA eRslidEEs A
TafE (H) 27

(@) ¥\t fmoms )
(b) FH F aOHE W F @+t g 7
(c) 3 gsh i €

(d) 3wt i stfrfrarsfiera wwemm R

5. 7ifie C,H,NO, # @ 87

(a) T9% TH Y H 17 T
(b) FEHM & FER C 3N H F T 3]

(c) geeH TS it e H SATeESH
TATYLAT T IR FEHA

(d) TEESA TETST i gem B A1gESH
TRHTIAT T FAAT FEHH

6. HQW ERGIEEA & fou Fefafad § @ SH-A

UF G 27

(@ CpHpn,o
(b) CnHzp_o
() CpHppyy

(d) CnHzn =1
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1. Two reactants in a flask at room
temperature are producing bubbles of
a gas that turn limewater milky. The
reactants could be

(a) zinc and hydrochloric acid

(b) magnesium carbonate and
hydrochloric acid

(c) methane and oxygen

{d) copper and dilute hydrochloric acid

2. How many moles of CO can be obtained
by reacting 2:0 mole of CH, with
2:0 mole of O, according to the equation
given below?

CH,(g) + %02 ~5CO+2H,

(@ 20
(b) 05
(c) 25

(d) 40

3. Reaction between which of the following
two reactants will produce hydrogen
gas?

(a) Magnesium and hydrochloric acid
(b) Copper and dilute nitric acid

(c) Calcium carbonate and hydro-
chloric acid

(d) Zinc and nitric acid

GTHY-S-XGK/41A

4. Which of the following characteristics is
common to hydrogen, nitrogen, oxygen
and carbon dioxide?

(a) They are all diatomic.

(b) They are all gases at room
temperature.

(c) They are all coloured.

(d) They all have same reactivity.

5. The compound C;H;NO, has

(a) 17 atoms in a molecule of the
compound

(b) equal molecules of C and H by
mass

(c) twice the mass of oxygen atoms
compared to nitrogen atoms

(d) twice the mass of nitrogen atoms
compared to hydrogen atoms

6. Which of the following is the general
formula for saturated hydrocarbons?

(@) C,Hpp, o
(b) C,Hy, »
() CpHyp iy

(d) CnpHap_y

[ P.T.O.
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7. T U fIHM O ¥ UHEEE o & 9y

& Hieft @ & fmm )| ot dee H ger
4 @3 Yhe & oW Feymm # whoea afs
am fopat 27

10. @ =gfth T8 geaqE Y TH T H dfew '

d 9% g 81 20 kg F TH FHAE WH *
qufeg W @ fen (eoman) s @5 fes
gftomreEey et afts dig @ f=faa 8 s

— 2| Tt W I e @ Hien e % fo st
o K T e 8 (g = 10m /s?)?

(b) 22%

(c) 33% (@) 200 N

(d) 44% (b) 20 N
8. aft wam gad fbg fim w=l B 3R B, & Loy

et =1 Ty zat = fien G sme, @ 39

firsor a1 S T Y g

(@) P +P,
? 11. Frafefed 3 & B-81 T fmd o B
2P, P Sl | wYTaid TEl Hdr /I 80
(b) Rl
P, + P, d
2P P,
(e P - P, (b) THET IETF SIS
@) PP1P2 () <SK
s efifesm o=
(d)

9. fordi o =1 feaufy afem

T=2t22+3t+42

12. frefafiae & @ fR-w1/3 Tedt F1/% §=

. a3 B/E7
2 @@ &ftre 31 U 3R @ g HHI: w8 e

gt @) ¥

. 3R z-Taem & AR
(a) xy-dd I Zz " —
(b) yz-dd W R x-faem & TER
(c) yz-aa W 3 y-Teem & FETR (c) T Sig AR Tt

(d) xy-aa W R x-fewn & gumR (d) e, Tet 3R okt (TTH)

GTHY-S-XGK/41A 4
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7. A  particle moves with uniform 10. Two persons are holding a rope of
acceleration along a straight line from negligible mass horizontally. A 20 kg
rest. The percentage increase in mass is attached to the rope at the
displacement during sixth second midpoint; as a result the rope deviates
compared to that in fifth second is from the horizontal direction. The
about tension required to completely

. . . 2
@ 11% straighten the rope is (g=10m /s“)
(c) 33%
(b) 20 N
(d) 44%
(c) 10 N

8. If two miscible liquids of same volume
but different densities P, and P, are (d) infinitely large
mixed, then the density of the mixture is
given by

P + P,
(a) = 11. Which one of the following does not
convert electrical energy into light
2P, P. energy?
By —22
P + P,
(a) A candle
2P P, ‘
@ 2-2, (b) A light-emitting diode
B P c) A laser
@ Dt (c)
P + P,

(d) A television set

9. The position vector of a particle is
=3 2 5 2 2y
r=2t"%+3t§+42 12. Which of the following is/are the main

R absorbing organ/organs of plants?
Then the instantaneous velocity v and ‘

= — ’ .
acceleration a respectively lie (@ Root only

(a) on xyplane and along z-direction

(b) Leaf only
(b) on yz-plane and along x-direction

{c) on yz-plane and along ydirection fc) Raot and leaf only

(d) on xyplane and along x-direction (d) Root, leaf and bark

GTHY-S-XGK/41A 5 [ P.T.O.
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13. F=faflaa & @ =F-1 & | ™ (7)) =

it F T 27
(a) SRR @ fwfo
(b) &t = T
(c) St 1 AT

(d) Tra IR 51 F TG

14. & ‘Tfas’ &d feafafag 3 @ feed e
B 87

(@) & 59 1 hae T gha T & 3R
UF Bl § fasiod 2T &

(b) S Y T FHead THEL TF el F ferenfia
2 B

(c) & Hel H IAM TN & had aTIeAgs
| Bt 8

(d) & 59 1 ko FSE b H fohfa
BT @

15. F=fafaa & @ e & sl afma &
IS § Ifafih 5ot a1 & ®9 § feherar 87

(a) ElLsIeE T
(b) Tog wma

(c) €E4au

(d) IasA

GTHY-S-XGK/41A

16. G UGY & FISH i AIha: 31a%s H el
SY, 99 9TeY &1 A=fdfad & & SiF-81 &
weqiferd grm? :

(@) HaA ST I 3fmE
(b) =& 3R faeat = Afirme
(c) Faw fagt &1 afirme

(d) at F1 e

17. F=fafas # @ SF-a1 Fr fist & vl g
qreqt & YauA § GreE TEt war?

(a) 9
(b)

(c) g

(@

18. Togq-graehly Waen &1 ¥ 91T &raT @
(a) HTTH
(b) et
(o) e

(d) TRl
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13. Which of the following is not a primary
function of a green leaf?

(a) Manufacture of food
(b) Interchange of gases
(c) Evaporation of water

(d) Conduction of food and water

14, Which one of the following denotes a
‘true’ fruit?

a) When only the thalamus of the
flower grows and develops into a
fruit

(bp) When only the receptacle of the
flower develops into a fruit

(c) When fruit originates only from the
calyx of a flower

(d) When only the ovary of the flower
grows into a fruit

15. In which one of the following
physiological processes, excess water
escapes in the form of droplets from a
plant?

(a) Transpiration
(b) Guttation
(c) Secretion

(d) Excretion

GTHY-S-XGK/41A

16. If the xylem of a plant is mechanically
blocked, which of the. following functions
of the plant will be affected?

(a) Transport of water only
(b) Transport of water and solutes
{c¢) Transport of solutes only

(d) Transport of gases

17. Which one of the following agents does
not contribute to propagation of plants
through seed dispersal?

(a) Wind
(b) Fungus
(c) Animal

(d) Water

18. The visible portion of the electromagnetic
spectrum is

(@) infrared
(b) radiowave

(c) microwave

(d) light

[ P.T.O.
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19. fF=fafad d @ -9 w6 2011 i SOET F

FFER Tl Hl, % TSI 99cd & YR
W, HE ARE g 87

(a) = TRV— AR — s —Eae
BEN|

(b) IR Teu—s—RifEr—Raee

c) TosiH—aTTee Wey—RAN=a Wou

(d) FETEd  Yen—fRuEe  Wew—fyfaw

20. f=fafad aft =9t & 2001-2011 & =IF &

TRE SEE ghg W A 39" qd % Wk
(1991-2001) # gernm # fiwEe m 2,
fa=

(@) dfEEETg %
(b) A ®
(c) i
(d) 1Y Y= &

21. T R 1 gfe ¥ v § Rl FoA

¥ ¥ ®H-91 U el TE 27

(@) VTS STEUiE Sio § TP & I Fehal
!

(b) 38 23°C-25°C & &= & 3N &icA
SIS Bl B

) 38 oot davim s= it IEvEwar adl
2, St 50 e ¥ 3fre TRy A A

(d) T8 THE-HYOE § "EEar & fow et
A1 # g2 o Wby il SavEhar aidl 81

GTHY-S-XGK/41A

22. 2011 & SFOAT F IgER fRw T H

sggfaa wifa it SHaE i g (TS 6
P TGS H I SIfq il SHEEE &
afceTd & STIER) Fed Ifee 27

(a) ST W

(b) TemmE wew

(c) USTE

(d) ufsm S

23. Prafefaa # ¥ fre Toa @ @ wfe wE

e 87
(a) HERTE
(b) ufm s
(c) Afem

(d) dfHeTg

24. Ba(OH), & gedidh 9R & (&1 331 % % Ba

T TEY] MR 1373 §)
(@) 857

(b) 137-3

() 1543

(d) 1713
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19. Which one of the following is the correct

ascending sequence of States in terms
of their population density as per
Census 20117

(a) Arunachal Pradesh—Sikkim—
Mizoram—Himachal Pradesh

{b) Arunachal Pradesh--Mizoram—
Sikkim—Himachal Pradesh

(c) Mizoram—Arunachal Pradesh—
Himachal Pradesh—Sikkim

(d) Arunachal Pradesh—Himachal
Pradesh—Sikkim—Mizoram

20. The rate of population growth during

2001-2011 decade declined over the
previous decade (1991-2001) in all of
the following States, except

{a) Tamil Nadu
(b) Kerala
(c) Goa

(d) Andhra Pradesh

21. Which one of the following statements

with regard to growth of coral reefs is
not correct?

(a) Coral can grow abundantly in fresh-
water.

(b) It requires warm water between
23 °C-25.°C.

(c) It requires shallow saltwater, not
deeper than 50 metres.

(d) It requires plenty of sunlight to aid
photosynthesis.

GTHY-S-XGK/41A

22. As per Census 2011, the concentration

of Scheduled Caste population (going
by percentage of Scheduled Caste
population to total population of the
State) is the highest in the State of

(a) Uttar Pradesh
(b) Himachal Pradesh
(c) Punjab

(d) West Bengal

23. Which one of the following States has

more than two major ports?

(a) Maharashtra

(b) West Bengal

(c) Odisha

(d) Tamil Nadu

24. The equivalent weight of Ba(OH), is

(given, atomic weight of Ba is 137-3)
(@) 857

(b) 1373

{c) 154-3

(d 1713

[ P.T.O.
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25. frafafaa # @ fra T sriaumEs § TEaeA

1 g8 3Hfee AT ST 87
(@) NO

(b) NO,

(¢ N,O

(d) N,0s

26. FEA & IW ® *F 9) F @ €0 w7 9 3,

Fr=fafaa & @ F9-a1 = 9d T8 27
(@) I IR § FH3R Bl B

(b) TR wEA A Ia & wlawraar S R,
ot fo6 dwree 7

(c) I& %L | e fagq g R

(d) a8 S @ Hre bt gl asft femmedt &
3TEHT- 3T Bl B

27. f=fafad # @ few o sififen § H,0/0,

T A F 1g F 06 8 WH, Ta A
Hftreram wrn W et 27

(@) CH, +H,0— CO+ 3H,

() CO+H,0—CO, +H,

1
(c) CH, + 502 > CO+2H,

GTHY-S-XGK/41A

28. V9 ®I3 3N o8 Rl a5g 1 Tt wfafem

ST 8, 9 39 ag ¥R Ime wffw % A
! aad g fora & aue gt 27

(a) 39 30 <19 h BiFd gl -
(b) W I 1 i BikE gl i A
(c) mméﬁﬁﬁmgﬂﬁwaﬂ

(d) 393 o B g0 F amh

29. 4-98 & frdlt oft T W g 8 f R

warT: e w8 ffdy 6 et 27
(a) &= feama
(b) &= Ak
(c) &= fegama iR & rmfa S

(d) &7 & Afes wew

30. fft qfuy & 5 A <@ F1 & BE @ R W

gy § 100 W-220V & 31fte @ sifte
fohan acs g &9 @ gwia o S S wehd
&7

(@ 20

(b) 15

fc) 11

(d) 10
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25. Which one of the following nitrogen
oxides has the highest oxidation state of
nitrogen?

(@ NO
(b) NO,
(€ N,0

({d) N,Og

26. Which one of the following is not true for
the form of carbon known as diamond?

(@) It is harder than graphite.

(b) It contains the same percentage of
carbon as graphite.

(c) It is a better electric conductor
than graphite.

(d) It has different carbon to carbon
distance in all directions.

27. In which one of the following reactions,
the maximum quantity of H, gas is
produced by the decomposition of 1 g of
compound by H,0/0,7?

(@) CH, +H,0 — CO+ 3H,

(p) CO+H,0—CO,; +H,

() CH, +—21~02 — CO+2H,

(d) CypHpya +60, — 12CO+12H,

GTHY-S-XGK/41A 11

28. When a convex lens produces a real
image of an object, the minimum
distance between the object and image

is equal to

(a) the focal length of the convex lens

(b) twice the focal length of the convex
lens

(c) four times the focal length of the
convex lens

(d) one half of the focal length of the

convex lens

29. The direction of magnetic field at any
location on the earth’s surface is
commonly specified in terms of

(@)
(b)
(c)

(d)

field declination
field inclination

both field declination and field
inclination

horizontal component of the field

30. A circuit has a fuse having a rating
of 5 A. What is the maximum number of
100 W-220 V bulbs that can be safely

. I S IR - s 3
connected in parallel in the circuit?

(@ 20
(b) 15
€ 11
(d) 10

[ P.T.O.
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31. Ffefgd 3 & fored o 1 we@ siedt gamn 34. AFF % R YA a7 H iy, e,

T Gehell &7 THEEE 3R wiee 0 g frefofas § @
H-F siftrerr/siftrerd fisweft st &/37
(a) Ifaa S
(@) SIS 3R STt T e
(b) SSEAT ST (b) TRt 1 gitasd ok 3wt nfsfiem
() T s (c) TIEHSTHA SR [T h mioeferdr

g (d) haw SpsRTopet 1 feefiera

35. ffafad & & FH-91 w fafdre yor @1 g &
S g9 fiem arefht @ § e g @ ofv 3

32. frafafaa 3 @ fred o 6t of 521 w7 @ uME ¥ T Ry A R s w

Hag & IO TE gt

o w0 & foru orfar g 27
(@) Seerdl S (@) By & 9 % & N ¥ a© @ A
ERERS I
(b) W SR FYR 7T T . .
(b) Gkt gy (IS i)
(c) STCAT-¥E) & TR TR 1Y 1 GRE=RT (c) -aEH (HIcAEH)
(d) o= % qg § 9N VAR TN F HRO dod (d) @i g1
% " &l Gag & T g
36. fr=fafed & & #H-w1 ©h #99 RNA faumg
T U IH 9 = IAREdT @ 3R g
33. fr=fafea & @ S9-1 = @@w 9"y F @ > foreprar <t s e 37
FYTAHOT T U Gohd &7
(a) DNA ! geF1 § RNA 3M&THa 3ifer
(@) A H ‘A@ H T A= =
(b) Toumy Fa@ WOt @t ity SilE
(b) S W ‘Yo T R ST 3 € T B Hewar 21
() AR W ‘Yam T qET T (c) ?:”‘ﬂﬁ“'qad' afsrand. sifereme Bt
(d) TSRE Vu’ w1 9rET SE (d) TauT] el Tme a% 37T @ USd &

GTHY-S-XGK/41A 12
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31. Which one of the following can extinguish 34. Which of the following roles is/are played
fire more quickly? by epididymis, vas deferens, seminal
vesicles and prostate in male

(@ Cold water reproductive system of human?

fa) Spermatogenesis and maturation of

(b) Boiling water sperms
{b) Maturation and motility of sperms

(c) Hot water

, (c) Spermatogenesis and motility of
(d) Ice Sperms

(d) Motility of sperms only

32. In which of the following, heat loss is 35. Which one of the following is the special

primarily not due to convection? type of milk produced by a lactating

mother, essential for the development of

(a) Boiling water immune response of newborn baby in
human?

(b) Land and sea breeze (a) Breast milk produced after a month

of childbirth

fc) Circulation of air around blast

furnace (b) Transitional milk

< (c) Colostrum
(d) Heating of glass surface of a bulb
due to current in filament (d) Mineralized milk

36. Which one of the following statements
explains higher mutation rate and faster

. Whi f the following features i
33. Which one of the following features is an evolution found in RNA virus?

indication for modification of stem of a
plant? {fa) RNA is relatively unstable
compared to DNA.

{a) Presence of ‘eye’ on potato : .
(b) Virus can multiply only within the

living cell of a host.
(b) ‘Scale’ found in onion

{c) Metabolic processes are absent in

() ‘Tendril’ found in pea b
(d) Virus can remain latent for a long
(d) ‘Hair’ present in carrot period.
GTHY-S-XGK/41A 13 [BT.0.
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37. W&t swEen (2011) @i gfawaar & a9y |

frfafiaa # & #9-a1 T Tt = AR oA
T R

(@) dHEHTG—HTRE—ITa—NERTE
(b) THET—fES I E—ERE—ate
() TRNE—FA—IHRH—Ia
(d) FrsiE—ma—ugRE—ante

38. frafafiga # @ *F-w1 w wm yfauas zam

o A& qmar?
(@) T
(b) ST
(c) <&
(d) T

39. TfEw el 3R THAIAGE ot arfies auf @

50 gfaera 9 aiftes fFreifafaa 4 @ o v @
TR d 27

(@) <feroft-afsdt arwE

(b) -t AT

(c) SR AEEA i S i @t arE
(d) ufenft fasy

40. 18 ol =Fw F=fafiaa 4 4 s gug &

44

(a) ¥ HI i @

(b) EGEY I AT

(c) 37 I fher v g @
(@) 3 aise #i SRl @

GTHY-S-XGK/41A

41. gE-1 % -1 % @y gafea Hifsg eik

it % 2 Ry T g o R I
EGELE

HEfi-1 -1

(i = Eeiteton) (3=TER0T)
A. frifie T 1. fosmamem
B. ufEed TR 2. fiyemg
C. @H TR 3. fymieh
D. @A gt 9 4. =T
e ¢
(@) A B C D

2 1 5 '3
() A B C D

2 3 1 4
g A B C D

4. '@ 1 2
A, BT D

4 1 < RIS

42. WA # q-swEm Bfa & fawm 7 FefafRaa

HoAl § A B-T1/8 T 2/87

1. e % aul § 99 % faria &9 § Wi
3T B

2. -f sEw ¥ siata 49 % Twe @
T F Al F s § ofy B =
R 31fe B

3. T & au # fH-3eEm S % S e
FR TS qfEr, SRmEl % ol &7 e
&1 1 HHe! # HHT TS |

= few T gz w1 v = g sw g

(@) FaA 1

(b) A 1 3R 2

(c) Haw 2 3R 3

(d 1,233
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37. Which one of the following is the correct 41. Match List-1 with List-II and select the

ascending sequence of States with
regard to percentage of wurban
population (2011)?

correct answer using the code given
below the Lists :

List-I List-II
(a) Tamil Nadu—Mizoram—Goa— (Classification of Town) (Example)
Maharashtra A. Industrial Town 1. Vishakhapatnam
(b) Goa—Mizoram—Maharashtra— B. Transport Town 2. Bhilai
Keral
e C. Mining Town 3. Singrauli
(c) Maharashtra—Kerala—Mizoram— b, Oarriion &. Amibald
Goa Cantonment Town
(d) Mizoram—Goa—Maharashtra— Code :
Kerala
(@) A B C D
2 1 3 4
38. Which one of the following places does
not fall on leeward slope? ' e o &
2 3 1 =
(@) Pune ], A B © 'D
(b) Bengaluru 4 3 1 2
(c) Leh d A B C D
4 1 3 2

(d) Mangaluru

42.

39. South Arcot and Ramanathapuram
receive over 50 percent of their annual
rainfall from which one of the following?

(a) South-west monsoon
(b) North-east monsoon

{c) Bay of Bengal branch of summer
monsoon

(d) Western disturbances

40. The Eight Degree Channel separates
which of the following?

(a) India from Sri Lanka
(b) Lakshadweep from Maldives
(c) Andaman from Nicobar Islands

(d) Indira Point from Indonesia

GTHY-S-XGK/41A 15

Which of the following statements with

regard to the land-use situation in India

is/are correct?

1. There has been a tremendous
decline in area under forest in
recent years.

2. The rate of increase in land use in
recent years is the highest in case
of area under non-agricultural use.

3. Land use such as barren and
wasteland, area under pastures
and tree crops have experienced
decline in recent years.

Select the correct answer using the code
given below.

(@) 1 only

(b) 1 and 2 only
() 2 and 3 only
(d 1,2 and 3

[ PA.0.
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43. T & Aehid 918 RA A WrRmE & Iered 46. W W SN H JEACE Fal e 27

w1 qgH % oY ARG TR FA SR (@ R
(31orft) f SRt @ e st feffaa
# & F-a1 T T A (b) =
A i i
(@) @ FE YH § wEa I w @
(b) B HA A iR T qE F S 47. f=fafen & ¥ F9-9 & Gt & A wEEw
(FfW) & Fwid TR Gt w9 G 8 Tt 7 27
1 TG (@) @
(c) 3= PeER Tl e (HYV) & it & (b) EH
TN FAT (c) g
(@) T wue ¥ wed § @w e #) C/ ¥~
AT (S 3R =)
48. G-I ® FA-1I & @9 gifera hifve af
qieat & R fiu U g2 1w woEd I
aa. Frefafas & & F9-0 wF @ BE A e EALE
FEd! 87
-1 -1
(a) wEE (s =ty) (T=)
(b) T A. e afy 1. weq weq
B. sfeu grr =iy 2. dfterTg
(c) Fm 5
C. FOURSHEIR diY 3. HAlH
(d) T D. g sy 4. @
Fe :
45. @rEt W R aferfer 87 @ & B € D
. . 2. L T4
(@) ArE)-ufirnfs Iuge i ger wran o oa W
(b) SAT-ufirnfes Suge # dH-R wE At i, R
i) A B & .D
(c) =ft-foeach Tt it 39 e wran 4 '3 31 D
_ @@ A B C D
(@) = fi-foeac Fa At sraw-mmd s gy o THe
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43. Which one of the following was not a
part of the strategies followed by the
Government of India to increase food
grain production in India immediately
after Independence?

(a) Intensification of cropping over
already cultivated land

(b) Increasing cultivable area by
bringing cultivable and fallow land
under plough

(c) Using high-yielding varieties (HYV)
seeds

(d) Switching over from cash crops to
food crops

44. Which one of the following is a west-
flowing river?

(a) Mahanadi
(b) Godavari
(c) Krishna

(d) Narmada

45. Khasi language is included in

(a) Munda branch of Austro-Asiatic
sub-family

() Mon-Khmer branch of Austro-
Asiatic sub-family

(c) North Assam branch of Sino-
Tibetan family

(d) Assam-Myanmari branch of Sino-
Tibetan family

GTHY-S-XGK/41A 17

46. The headquarters of Metro Railway Zone
is located in

(@)
(b)
(c)
(@

New Delhi
Mumbai
Kolkata

Chennai

47. Which one among the following is not a
tributary of river Luni?

(@)
(b)
()
(d)

Khari
Sukri
Jawai

Banas

48. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-1I List-IT

(Major Dam) (State)

A. Cheruthoni Dam 1. Madhya Pradesh

B. Indira Sagar Dam 2. Tamil Nadu

C. Krishnarajasagar 3. Karnataka

Dam
D. Mettur Dam 4. Kerala

Code :

(@ A B (& D
) 1 3 4

(b) A B C D
2 3 1 4

(e A B C D
4 3 1 2

d A B C D
4 1 3 2

[ P.T.O.
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49. Wi & fr=fafen @9 Ts9-85 4 4 g = 3 52. faw 9% i g1 foemw fd, 2018 ¥ smEw

T TSETT ) oS gay FH 87 Frfefaa & & frg & §/fF & & wie &
Fofisen F 2017 it gormr § 2018 # 3
(@) =< &7 ki
1. U H P wE
(b) fegh
2. Tefoamm @ froso s
© w R 3. MR HRH HET
4, Tl g =
(d) =E0 3R TR g
= fow e g2 1y W= W g
(a) e 1
50. f=ffan & & #¥F9-w1 & ef @@ # e
oo ¥ (b) Hae 1 3R 2
(¢ 1,233
(@) TS &l
(d) 2, 3334
(b) N
. T 53. =qed foa omn 3 vt =t aw-wrfie % e
% fou Fefafge seel Qwfed) =i
@ e ﬁa-ﬁmu‘sﬁﬁq%:
1. 3™ W
2. SEEE
51. T & fam (a1ma) ™ widtg fisrd &% g fr 3. SwIfeTHR et
T TR e % gER o @ e 4. &ETHd
R ATt §7
S9YTh T I HE™ $ HUR W I7a0d
@ i frer % # afer fifsm)
2 enﬁ i (a) 1-2-3-4
(b) 1-2-4-3
(c) Wl fasrm
(c) 1-3-2-4
(d) faem B B384
GTHY-S-XGK/41A 18
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49. Which one among the following Union
Territories of India shares the shortest
length of National Highways?

(a) Chandigarh

(b) Delhi

() Daman and Diu

(d) Dadra and Nagar Haveli

50. Which one among the following passes
links Lhasa with Ladakh?

(a) Lanak La

(b) Burzil

{c) Babusar

(d) Khyber

51. According to the latest Reserve Bank of
India study on State finances, capital
spending is maximum on

(a) rural development

(b) water supply and sanitation

(¢) urban development

(d) education

GTHY-S-XGK/41lA

52. According to the World Bank’s Doing
Business Report, 2018, India’s ranking
has improved in 2018 as compared
to 2017 in which of the following areas?

1. Paying taxes

2. Resolving insolvency
3. Starting a business
4. Qetting electricity

Select the correct answer using the code
given below.

(a) 1 only
(bp) 1 and 2 only
(g 1, 2 and 3

(d 2,3 and 4

53. The Fourteenth Finance Commission
assigned different weights to the
following parameters for distribution of
tax proceeds to the States :

Income distance
Population
Demographic changes
Area

= B e

Arrange the aforesaid parameters in
descending order in terms of their
weights.

(a 1-2-3-4

(b) 1-2-4-3

(c) 1-3-2-4

(d) 4-3-2-1

[ P.T.O.
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54. USRI Whfash &1 Wiehew T & fHTEd 58. A7&@fd & IgER Afeand Frafafas & @ fa

foray Y oft? Gfq @ wufa aifdfa w0 gt §7
(@) Tiees freiq ’
_ (a) @5
(b) To B=go fhfcTm
(c) T;Toqqom (b Il
(d) ¥Mo sfto foreht () wr-fs
(d) IR
55. TeWI W& ®ie Gof, 39 wwyar & f=fafag #
¥ e g e & wifig 27
(@) EUH 59. TS Ef<gd 3R g5 & sy s & offw oo
 fawa # gar Frefafaa & @ fre g oy
b) S - fremy 37
(c) <A
- ) (@) ufsEm e
(b) G AT
56. 7efdg i w1 forg wmar § foref mh oft?
; (c) ST fAsr
(a) T&Epd
) AT - {8 -
(c) afe
(d) e 60. WA vATed! swt # fefafad 4 @ #9-d ™
I 19 &t fhu 7 9l v frata 6 o
?
57. afiret W Hel % sreR Pefafea 3§ @ 29 a3 R
(@) TEAR
(b) SEHE (FEsE)
(b) IsETR
(c) e (c) R (FeTgsrrer)
(d) SR (d) STREwS
GTHY-S-XGK/41A 20
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54. The natural rate of unemployment 58. According to the Manusmriti, women can
hypothesis was advocated by acquire wealth through which of the

following means?
(@) Milton Friedman

(b) A. W. Phillips (a) Purchase

(c) J. M. Keynes (b) Investment

{d) R. G. Lipsey
(c) Token of affection

55. The Harappan site at Kot Diji is close to (d) Inheritance
which one of the following major sites of
that civilization?

(a) Harappa
59. The dialogue on Varna between king
(b) Mohenjo-daro Avantiputta and Kachchana, a disciple
of Buddha, appears in which one of the .
(c) Lothal following Buddhist texts?

(d) Kalibangan
(a) Majjhima Nikaya

56. The story Gandatindu Jataka was written (b) Samyutta Nikaya
in which language?

(c) Anguttara Nikaya

(a) Sanskrit
(b) Telugu : (d) Ambattha Sutta
(c) Tamil '
(d) Pali
60. In the first century AD, which among the
following was not a major item of Indian
57. According to the Tamil Sangam texts, exports to Rome?
who among the following were the large
landowners? (a) Pepper

fa) Gahapatis
(b) Spikenard

(b) Uzhavars

(c) Adimais (c) Tortoiseshell

(d) Vellalars (d) Nutmeg

GTHY-S-XGK/41A 21 [ B0
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1858 & Ty WA

frafafas weat & @ SF-T1/3 v 3/87

1. fofesr 9 3 §= sfem fi @ g W
AT T i oft|

2. fafewr dwe 4 wim & s & o gwen

Fr fofew 9 & wouw e & i @
srffaafia e an

3. 7g afufam 3w & wwmem § foem foeft
At "t ae fRgw TS
e & fagra @ e1ftrnfia o)

= fog e e @1 wE W Eh IW R

(@) Fae 1R 2

(b) Had 2

(¢ 1,233

(d) Faa 1R 3

62. W uftwg sfufm (3w sefRew @),

1861 & dey A fF=fafles wHT & @/
H-91/] et 2/87

1. 38 ffufm ¥ ma-ste i gieg
 # wwdl wewl ® ek W
AT 1 T g2 ST fedr|

2. TEE i AWAREE R S o1 qur =
FHET H AT ®Y ¥ I Furh v=Er %
TR o= Hifva = fear mn o <Y ek
SRA F 39 gHY T W 9|

3. TER-SRA % g g faurh uite @
o)

fa e e e w1y W wdh IW g

(a) Fad 1 IR 2

(b) FI 2 3R 3

c 1,23R3

(d) Faa 1

GTHY-S-XGK/41A
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63. dfaum w1 g i Uaeifs sewdt & weA

% day i faffad s § ¥ F9-w1/8 9@
2/87

1. S F Y9 I 9 gl It =it |
wfaum & wufmior s rgurirg e

2. UE H9A TH TEE-WW @ TE w1, 9w
TF 919, T g8 Heohed AN H Wi
off |

3. 3O gHR dfeum @ sfafifed <99 wem
)

f= fw T e 1 v W sw g
(@) Faa 1 3 2

(b) a1

€ 1,23MW3

(d) ¥« 2 3R 3

64. faam=r 2018 # dux 2+2 fRusfiw dae fFre

offer ge?

(@ ¥a & foow &=ft 7 wn w=f &1 3%
! guehet & @1y

(b) ¥a & fam W=t 9w gh w3 w4
umehell & 91y

(€ /@ % T Wt 3 wn Wit w1 o
uTfeReT aneRet & |y

(d) wra & foRwm o=t 3 wn wh & =
iR THeRet & ATy
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Which of the following statements
relating to the Government of India
Act, 1858 is/are correct?

1. The British Crown assumed
sovereignty over India from the
East India Company.

2. The British Parliament enacted the
first statute for the governance of
India under the direct rule of the
British.

3. This Act was dominated by the
principle of absolute imperial
control without any popular
participation in the administration
of the country.

Select the correct answer using the code
given below.

fa) 1 and 2 only
(b) 2 only

() 1,2 and 3
({d) 1 and 3 only

62. Which of the following statements relating

to the Indian Councils Act, 1861 is/are

correct?

1. The Act introduced a grain of
popular element by including
non-official members in the
Governor-General’s Executive
Council.

2. The members were nominated and
their functions were confined
exclusively to consideration of
legislative proposals placed before
it by the Governor-General.

3. The Governor-General did not have
effective legislative power.

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3 only
(¢ 1,2 and 3
(d) 1 only

GTHY-S-XGK/41A
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63. Which of the

following statements
relating to the historic Objectives
Resolution, which was adopted by the
Constituent Assembly, is/are correct?

1. The Objectives Resolution inspired
the shaping of the Constitution
through all its subsequent stages.

2. It was not just a resolution, but a
declaration, a firm resolve and a
pledge.

3. It provided the underlying
philosophy of our Constitution.

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 1 only
{c 1,2and 3

(d) 2 and 3 only

64. The 2+2 Bilateral Dialogue was held in

September 2018 between

(a) External Affairs and Defence
Ministers of India with their US
counterparts

(b) Finance and Defence Ministers
of India with their Russian
counterparts

(c) Home and Defence Ministers of
India and their counterparts in
Pakistan

(d) External Affairs and Defence

Ministers of India with their
counterparts in Pakistan

[ P.T.O.
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65. & 2018 H Tfed &N AT wfifd w1 steas

(SEAT) 1 87

(a) TEHETH

(b) TER Y& HATGHR
(c) & mt

(d) o gE

66. ‘awg frafafag o & forges 9m 27

(a) TEA 5 &b
(b) R TGt
(c) <9 I&H 1A

(d) dIIE dTEh

67. IuM Hifd % IFER wa:gHIfed arf & anf

& ° gy faeeh few fefafaa & 9
fore <t o srgma 7

(a) 26 yiereTa
(b) 74 wfdwa
(¢) 51 ufaema

(d) 49 ufaea

GTHY-S-XGK/41A

68. WS 2017 # & WA EAT & &F T aHie

arfert 1 Aifa sgeifca i 7€ ot awie
wrftert Anf & Aream @ sty % R mare
T A =R &5 § fefafes 4 @
HH-1 & TE 87

(a) TG (rfewdt )

(b) TEH AYAM I efhieet

(c) wgssHt

(d) FEES IEF 16 9 T& 5k o

69. TiETlf st ‘CAATSA’ fi=feRag § & form 2w

s it faum =t ffde e 27
(a) IiTEeE fehren

(b) HYH T T

(c) &4

(d) WRd

70. WA TWHR g I fuFag F grlem ain

Th AU TAH-F HAT B TET TH ¥
TR 2017 # fdq ‘wE 9@’ w1 GaE T
o oA 87

(a) e stgsn

(b) TR G

(c) 3fer< A

(d) W\E Hfea
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65. Who is the Chairman of the Defence 68. The policy on strategic partnerships in
Planning Committee set up in defence was approved by the Ministry of

April 2018? Defence in May 2017. Which of the
following is not among the four

(@) The Prime Minister 7 segments identified by the Ministry for

acquisition through the strategic

artnership route?
(b) The National Security Advisor J J

(a) Artillery guns
{c) The Defence Minister
(b) Fighter aircraft and helicopters

(d) The Chief of the Army Staff 6] SubMrities

(d) Armoured fighting vehicles and
main battle tanks

66. ‘Tejas’ is the name of which one of the
following?

69. The acronym ‘CAATSA’ refers to a piece of
(@) Main battle tank legislation enacted by which one of the
following countries?

b .
(b) Nuclear submarine ) ' Usiieed Kingdoni

(c) Light combat aircraft (b) United States of America
(d) Aircraft carrier c) Russia
(d) India

67. As per the extant policy, Foreign Direct
Investment is permitted in the defence
sector under the automatic route up to
which one of the following limits?

70. Who among the following is the Convener
of the ‘Task Force’ set up in November
2017 by the Government of India to
review the Income-tax Act and draft a

@ 26 new direct tax law?
a percent

(a) Girish Ahuja

(b) 74 percent
(b) Mukesh Patel
il 21 pensnt (c) Arbind Modi

(d) 49 percent (d) Mansi Kedia

GTHY-S-XGK/41A 25 [ P10,
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71. 9§ 2018 # dAfded & Froflw & dew &
ffafea & & fFe & waa & fog =me
o geg (MSP) # gfg Hit foraar Aferead
87

(@) AR (ER)
(b) W=
(c) WERI

(d) \EEE

P

frafoflaa e m (4) serEt § @ $9F &, FH 1 AR
HYA 11, F 21 oAl 1 TraaHigdes we Hifg R
= fow T e 1 W@ W EE IW A

FE :

(@) AT FYA AT TE § 3N FAA I,
FoH [ 1 TE TEw 2

(b) QI FAT -G GE &, Teg
%o 11, FoF 1 1 Fel WEwwr T8 2

(c) w1 TE B, Tig %9 11 e @
(d) w17 8, fohrg wem 11 &t @

T2, Y1 :

i § 2017-2018 & SRH Tl & Fd
ST 9121 dar el a8 3 ufdwa
FRBM H1 & &R & SR 51 |

GTHY-S-XGK/41A
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73.

74.

75.

YA 11 :

e aoft & ww W felm o=@
20162017 # g&@ ® 20172018 #
it I W W 95 ™|

U1 :

2007-2008 ¥ 2015-2016 & A WA
arefergen # sww ® & oy froee g 21

S II :

R o A aww & e g 2

SYq I :

9Ra # gy § Frsht Faw, adefe Fet
| wga it 98 (F) 21

ygd II :

M R ogEun niefaftei # faafemem
TS €9 8 B e B 2

SY9 1 :

9T # S oeft ot Fa SR =1 H1hl =2
T B1

SYA 11 :

9 § FY YeEr it Afera § w5 w4 &
3% 2
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71. With regard to the cabinet decision
in July 2018, the percentage increase
in Minimum Support Price (MSP) is
maximum in which one of the following
crops?

(@)
(b)
(c) Maize
(d)

Jowar (Hybrid)

Bajra

Soya bean

Directions :

The following four (4) items consist of two
statements, Statement I and Statement II.
Examine these two statements carefully and
select the correct answer using the code given
below.

Code :

(a) Both the statements are
individually true and Statement II

is the correct explanation of
Statement I
(b) Both the statements are

individually true but Statement II
is not the correct explanation of
Statement I

fc) Statement ] is true but Statement 11
is false

Statement I is false but Statement II
is true

(d)

72. Statement I :

The overall fiscal deficit of the States in
India during 2017-2018 stayed above
the FRBM threshold level of 3 percent
for the third successive year.

GTHY-S-XGK/41A
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Statement II :

Special Category States had run up a
higher level of fiscal deficit in
2017-2018 compared to 2016-2017.

73. Statement I :

There has been a sharp decline in
savings rate in Indian economy
between 2007-2008 to 2015-2016.

Statement II :

There has been a fall in household and
public savings.

74. Statement I :

Private investments in research have
severely lagged public investments in
India.

Statement 1I :

Universities play a relatively small role
in the research activities of the
country.

75. Statement I :

Agriculture in India still accounts for a
substantial share in total employment.

Statement 11 :

There has been no decline in volatility
of agricultural growth in India.

[ P.T.O.
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76. T ¥ B NG IO FH AE QY T ™

3R 9a # & =9 Y
(a) G SN

(b) T

(c) AT

(d) HE=

77. faegTR § R et w1 v efafes § @

ferernT Hes! W e 27

(@) e %1 giEA

(b) =i st (Riferer) wend
(c) TG WM

(d) BT HHTS

78. IHT F IEAR & U TH Hg@YO @

ariE-u-3Fad] qEl 9T % 39 fagE § |
forees g foredt it <ft?

(@) T FHegrt
(b) AR ST
(c) ega HifeX SRgA

(d) TSR srEne

GTHY-S-XGK/41A
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79. THis @H, T Al =fE, fFe gre que

o1 Tq fas on?
(@) FT

(b) TR

(c) TRERII

(d) T 3AH

80. 18 vl # @Y H W YAl TGS AR

% o417

(a) TETE THEGERT

(b) TETE WA 3Tel @H
(c) TS M-Il

(d) TS GIAEd @H

81. WiEEh anht dafeR & rgEr 174 waredl &

B arurRt & REndt g fHEd 99 ST
47

(@) 3 3R U (F<A)
(b) UeeR AR B (FH)
(c) T8 3R TeaR

(d) 3z 3R TR
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76. Who among the following European

travellers never returned to Europe and
settled down in India?

(a) Duarte Barbosa
(b) Manucci
(c) Tavernier

(d) Bernier

77. The «class of Amar Nayakas in

Vijayanagara is a reference to which
of the following?

(a) Village Chieftains

(b) Senior Civil Servants

(c) Tributary Chiefs

(d) Military Commanders

78. The important source for Akbar’s reign,

Tarikh-i-Akbari was written by which
one of the following Persian language
scholars?

(a) Arif Qandahari
(b) Bayazid Bayat
(c) Abdul Qadir Badauni

(d) Nizamuddin Ahmad

GTHY-S-XGK/41A

79. The aristocrat Mugarrab Khan was a

great favourite of which Mughal
Emperor?

(a) Akbar
(b) Jahangir
(c) Farrukhsiyar

(d) Shah Alam

80. Who was the first Nawab Wazir of Awadh

in the 18th century?

(a) Nawab Safdarjung

(b) Nawab Saadat Ali Khan

(c) Nawab Shuja-ud-Daula

(d) Nawab Saadat Khan

81. According to the French traveller

Tavernier, the majority of houses in
Varanasi during the 17th century were
made of

(a) brick and mud
(b) stone and thatch
(c) wood and stone

(d) brick and stone

[ P.T.O.
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82. IS ¥ Faaal & fawy # ffafaa st o 85. Yd & dfayrw & F=fafas § @ -6

¥ F-w1/@ W@ 2/ g wrmwEt fren afwat f e w@
1. TS % GIUIs ¥q@ & &9 § Teard SYEY Hdt 27
% ey TEg § WAl a1 w=t a1 fow T
| (a) el g
2. W U9 gl Abufug @ wWad ®
g fofa @ ® @ s 9 Tl (b) et sigEsh
e % JfH TS F I FEIEE b .
iR FH w1 2, a6 IEF FW wEe (c) et IrgeEh
BT Gelten & 31 B §1
(d) B g
R fow T 2 w1 @ W EE IW gAY
(@ FFA1
(b) Fae 2 86. f=fuflga # ¥ fra ws Tsw & afa 2018 #
‘DEFEXPO 2018’ ®4 ga1?
c) 13 23H
(d Ada 1,782 (@) T
83. Wi % WRwm @ PEfRe § @ AEa £ min
;?amm%mﬁﬁwmaaw&a o5 8
(a) =3 371A (d) =iy wRw
(b) 3<% 371B
ag=ae 371C
e ; 87. 2018 % s www # faw W=t g =ifta & e
(d) ¥T=3 371D slreifis #ier Frafafad 3§ & B o 3
TR &7
84. wid % dfayW & F=fafad & 4w ag=se .
% Iy SH-FER T T AL e 7 (@) 3Nfewm SR ufém et
(@) ¥FIF=8% 238 b) o o
(b) ¥TI=VR 370
3R
(c) IR 371 () S hRIR
(d) IR 371G (d) I TR SR g
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82. Which of the following statements 85. Which one of the following Schedules
relating to the duties of the Governor to the Constitution of India provides
is/are correct? for setting up of Autonomous District
1. The duties of the Governor as a Councils?

constitutional Head of the State

do not become the subject matter (a) Third Schedule
of questions or debate in the

Parliament.

2. Where the Governor takes a (b) Fourth Schedule

decision independently of his

Council of Ministers or where he (c) Fifth Schedule
acts as the Chief Executive of the
State under President’s rule, his (d) Sixth Schedule

actions are subject to scrutiny by
the Parliament.

Select the correct answer using the code

RWER belve 86. In which one of the following States was

(@) 1 only ‘DEFEXPO 2018’ held in April 2018?
(b) 2 only

a) Goa
(c) Both 1 and 2 e

(d) Neither 1 nor 2 (b) Karnataka

83. Which one of the following Articles of
the Constitution of India deals with the

special provision with respect to the
State of Assam? (d) Andhra Pradesh

(c) Tamil Nadu

(a) Article 371A
(b) Article 371B

(c) Article 371C 87. The two defence industrial corridors
; announced by the Finance Minister in

D
o ATEgihg his 2018 Budget speech are coming up

in which of the following States?
84. Provisions of which one of the following b s

Articles of the Constitution of India

apply to the State of Jammu and (a) Odisha and West Bengal
Kashmir?
(a) Article 238 (b) Punjab and Haryana

(b) Article 370
(c) Article 371
(d) Article 371G (d) Uttar Pradesh and Tamil Nadu

(c) Gujarat and Maharashtra

GTHY-S-XGK/41A 31 | BRO,
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88. WRd & Usdl oyl IAN aEs (IAC) fa 91. @& wEA # FNHf fawas wemn fem

AT | ST S 87 gt B € # e g g o e
(a) fespia (a) VT o

(b) fewre (b) e FTEET R

(c) Ava (c) F=IaH EEE

(d) T (d) vada Fewmes

89. ‘gqy’ uhEeET ¥ ofia wifew 155-mm 92. T HAW A% Wi faferm +H A g ma-

e At At % v # Prefrad § @ ST Z T e T e
T e Pmfar 1 @ T 37 b

S e (b) TE FaTCTd

(b) S Heedl A1 o s

(c) WTd ERATHEY fafics iR

(d) o g fm

93. 9 MY EfaerEad ®H g, Sem 193 |t
F 9 § f-seinfrewm f sfiamon & auds

90. fr=feifga # @ *=-w1 wH J=l 2020 ¥ gA-tfieed g0 whA Afkel (F9) @

el Gel #1 iR g 27 I o 27

(@) HETT (ge ) (a) et T

(b) Taffeag € o (b) AT FAR ST

(c) @i, et sep SR dge (c) weaTH sz

(d) forwatan (d) THH Tl
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88. What is India’s first Indigenous Aircraft 91. ‘Mission Satyanishtha’, a programme
Carrier (IAC) called? on ethics in public governance, was
launched recently by the
{a) Vikrant
(a) Indian Railways
(b) Virat
(b) Central Bureau of Investigation
(c) Vaibhav
(c) Supreme Court
(d) Varaha (d) Enforcement Directorate
89. Which one of the following manufacturers 92. The College of Fort William was
is engaged in upgradation of the established by which one of the

Swedish 155-mm Bofors Howitzer under

following Governor-Generals?
the project ‘Dhanush’?

(a) Warren Hastings
(a) Bharat Electronics Limited

(b) Lord Cornwallis
(b) Ordnance Factory Board

fc) Richard Wellesley
(c) Bharat Dynamics Limited

(d) William Bentinck
(d) Mishra Dhatu Nigam

93. The Economic historian, who has
used the data collected by Buchanan-
Hamilton to support the thesis of
deindustrialization in the 19th century
India, is

90. Which one of the following is the official
mascot of Tokyo 2020 Olympic Games?

(a) Soohorang

(a) Tirthankar Roy
(b) Vinicius de Moraes

(b) Amiya Kumar Bagchi
() The Hare, the Polar Bear and the

Leopard (c) Sabyasachi Bhattacharya
(d) Miraitowa (d) Irfan Habib
GTHY-S-XGK/41A 33 [ P.T.O.
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04, 10t ot & wra & =@ I FoREA A AR 98. wEm Hl fyen ufwg & faffwa wewt &

or? TEEfy % o § Prefafae § @ SF-w @
o) e S & 'Y

(b) S FH (@) Frafem  ad@ & = ad

() TR H (b)) TEf" & 9" aiwg H TIw Fo6F H
(@) T 3 fuffa fofer & wia ad

95, guN W% @ 3 fy=fufea & @ fow 2w &

‘e e e’y fomm an?

(c) 9 TEW F TG | T T

(@) Fratem & it @ o8 a9

(@) U

. 99. frefiflas & ¥ = wEayE e R ad
() wEA g A BRE B Smrell B Saden
(d) HAREn angm?

96. fFa TeHIR® & 3 6 SH, 1946 F Hfeme

fire e Rt Sfueie w9 & wen = fer,
e dwy wfeem & #@f H SRR W
fem on?

(@) a1 FEas iR e wie
(b) A R 5 S aia SEER

(c) TSI TR & A@T-Tdiers

(@) i;m (d) 3 i TeRa AEER

(b)

(c) Fiem =m

@) e T 100. @ frem ot asfta ofeel & erfufiem

97. 3faw wrd fram aw, fSosht 92 fasmare

3R HeheUl % STferelieoT SruET Heisd 6 TIfE
forlt wTw 27

(1944) & g, =1 Faffaa steag w9 a1? (@) TSEIE

sliadliots (b) T

(b) Torren wma .

(c) =g TS qeasq o TR

(d) TEE (d) TuTE
GTHY-S-XGK/41A
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94. Tea growing in India in the 19th century

was made possible by
(a) Joseph Banks

(b) James Cook

(c) Robert Fortune

(d) Robert Owen

95. Subhas Chandra Bose started the ‘Azad

Hind Radio’ in which of the following
countries?

(a) Japan
(b) Austria
(c) Germany

(d) Malaysia

96. Which political party formally accepted

the  Cabinet Mission Plan on
6th June, 1946, which had rejected the
demand for a sovereign Pakistan?

(a) The Hindu Mahasabha
(b) The Congress
(cj The Muslim League

(d) The Unionist Party

of the All India
in

e
Vijayawada
(1944), was

(a) Sahajananda Saraswati

(b) Vinoba Bhave

(c) Achyut Rao Patwardhan

(d) Narendra Dev

GTHY-S-XGK/41A

98. Which one of the following regarding

the tenure of the elected members of
the Autonomous District Council is
correct?

(a) Five years from the date of election
(b) Five years from the date appointed
for the first meeting of the Council

after the election

fc) Six years from the date of
administration of Oath

(d) Six years from the date of election

99. Who among the following shall cause the

accounts of the Autonomous District
and Regional Council Funds to be
audited?

(a) The Comptroller and Auditor
General of India

(b) The Chartered Accountant
empanelled by the Government of
India

(c) The State Government Auditors

(d) Any Chartered Accountant

100. Who has the power of annulment or

suspension of Acts and Resolutions of
the Autonomous District and Regional
Councils?

(a) The Governor
(b) The President
{c) The Chief Minister of the State

(d) The Prime Minister

[P.T.O.
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101. ©9 & oiERil % 99 # Wi & fEEs iR

TEerE qhes 6 SEmdia Sfaeedt s R
wega ferar smam?

(a) Tgafd
(b) I BT 3T
(c) A
(d) ST

102. f=fafad § @ $9-w1 U f wfea 4@

Hafa & 87
(@) TR 3R &= wifteat
(b) Wt St FrgfRe i wiE

(c) TE fqum = | AEd (F9F) F:4,
i T 3R AT HE

(@) =St & fau g, e, frm swemn
IfER YeH # Hi uliE

103. TEe # uipa 3 @ d=ed fam & SR F

fr=fefaa & @ ®*F-w1 & wd = 27
(@) TSF & TS QT ST

(b) wggfw@ wiq iR srgEfEd  SESid
TETE % T § gferd S % T % qR

= T

(c) H9 THR F FEaw & e forelt sused
¥ féos SEurl @ fued & g8 = ==
HET

(d) 3fenfis iRt it |t B qen A Had
Tl W == HEHT

GTHY-S-XGK/41A
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104. f=faflga & @ =1 ww@ & Faf=a s mm &

HET 3T wfthdl & 7efiT 7 27

(@) Tates TmmEeft i I & e,
Fraem ofR o e

(b) TEE F A yAS TH A faum @ &
foat=m =t

(c) Tgufa wad Iwgafy % &l & fon fratem

AT

(d) Tatem s f, | I W™ FEF
e § wemar w0 F fag sl
rgeht i Fgfe e

105. J=aH A & e % 1 A i %

fou f=fafga 4 @ 9-a1 AYeve EEE
w#t ’7

(@) Trdt 3= =meE ¥ =mEnfw F 9§
HH-Q-%H qie Id

(b) T 3= = & aftew & w9 A
FH-U-HT TH 9

(c) Tgufa I 1T F TF Tsuwios ARG
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101. The audit reports of the Comptroller and

Auditor General of India relating to the
accounts of the Union shall be
submitted to

(a) the President
(b) the Speaker of the Lok Sabha
(c) the Prime Minister

(d) the Vice President

102. Which of the following is not related

to the powers of the Governor?
(a) Diplomatic and military powers
(b) Power to appoint Advocate General

(c) Summoning, proroguing and
dissolving State Legislature

(d) Power to grant pardons, reprieves,
respites or remission of
punishments

103. Which one of the following regarding the

procedure and conduct of business in
the Parliament is not correct?

(a) To discuss State matters

{b) To discuss issues of the use of
police force in suppressing the
Scheduled Caste and Scheduled
Tribe communities

(c) To discuss issues in dealing
with violent disturbances in an
Undertaking under the control of
the Union Government

(d) To discuss issues for putting down
the demands of the industrial
labour

GTHY-S-XGK/41A
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104. Which of the following is not under the

powers and functions of the Election
Commission of India?

direction and
preparation of

(a) Superintendence,
control of the
electoral rolls

(b) Conduct of elections to the
Parliament and to the Legislature of
each State

(¢) Conduct of election to the office of
the President and the
Vice President

(d) Appointment of the
Commissioners to assist the
Election Commission in the
performance of the functions
conferred on the Commission

Regional

105. Which one of the following criteria is not

required to be qualified for appointment
as Judge of the Supreme Court?

(a) At least five years as a Judge of a
High Court

(b) At least ten years as an Advocate of
a High Court

(c) In the opinion of the President, a
distinguished Jurist

(d) At least twenty years as a Sub-
Judicial Magistrate

[ P.T.O.
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106. fmfafad # 4 #H-91 U geaws & wda |
& 27

(@)

(b)

(c)

(d)

TS % HHal & UNEd ¥ HEitd
Afyufeyg F @t fofal ofn faumm &
TeTEl B TS & TSI A
AT

TS & YOEd & 99 0 U g\
= T e IR faumE & weEl @
IqAsY HA

it ufddes § sy weed ¥ getta
Ahafteg & wft fofdt = wgafe =i
gyfad w1

afz Tegdre TEn =R, @ W@ R A
=1, T @ B W=t g foka foram mn
3 forg ifiefog g Fem T fem T
%, nfafeg & feremas wega e

107. F=fafas § & 50 osai 4 faumdea &1 9
FE W ST 27

(@)

(b)

()

(@)

REREIE]

forem T

foam aftwg

L (CLEil
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108. TSHUTS &1 FAARY I FW @l Atk & IR A
frefafaa § @ =1 v =&l 87

(@)

(b)

(c)

(d)

7z e o 74 R

U Rt oft gwy sreaey & 99E o
Hehal B

ey # wit = v aft R s
AT &, S faumtes o 7 T8 8

sy s (Nfd) F9 % fog d@hat
# ged iR gdE @il AavEsdl T8
Bl 1

109. AFARERRT Ht wEdfes Hwon % dey H
frafefag wuEl #§ @ F9-a1 @8 78 27

(@)

(b)

()

(d)

T TY WEEHl I AHETUER] kA
F 10 e, 1948 + IR fawan
o7

qRd % Gy # wiaeiya s
it F wfqug Iqay AEaTURR H
i Hiwon & 3usdl & @9E B

gty @ SR, gearER W
wrafirs won s e T8 2

I, HIHaTREhRl il A S
T T ¢
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106. Which one of the following is not among
the duties of the Chief Minister?

(@) To communicate to the Governor
of the State all decisions of the
Council of Ministers relating to the
administration of the affairs of the
State and proposals for legislation

(b) To furnish information relating to
the administration of the State and
proposals for legislation as the
Governor may call for

() To communicate to the President
all decisions of the Council
of Ministers relating to the
administration of the State in the
monthly report

(d) To submit for the consideration of
the Council of Ministers any matter
on which a decision has been taken
by a Minister but has not been
considered by the Council, if the
Governor so requires

107. Which one of the following is not
considered a part of the Legislature of
States?

(a) The Governor
(b) The Legislative Assembly
(c) The Legislative Council

(d) The Chief Minister

GTHY-S-XGK/41A . 39

108. Which one of the following regarding
the ordinance-making power of the
Governor is not correct?

(@)

(b)

(c)

(@)

It is not a discretionary power.

The Governor may withdraw the
ordinance anytime.

The ordinance power can be
exercised when the Legislature is
not in session.

The aid and advice of ministers is
not required for declaring the
ordinance.

109. Which one of the following statements
regarding the Universal Declaration of
Human Rights is not correct?

(@)

(b)

(c)

(d)

The UN General Assembly adopted
the Human Rights Charter on
10th December, 1948.

Some of the provisions of the
Fundamental Rights enshrined in
the Constitution of India are similar
to the provisions of the Universal
Declaration of Human Rights.

The Right to Property is not a part
of the Universal Declaration of
Human Rights.

India is a signatory to the Universal
Declaration of Human Rights.

[ RO
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110. AFETR gfwg ¥ an # Fafafad st & 9

H-91 FET TE 87

(@) FE Ggw Y FEEA F fiw, 9w TG &
Teft we=ll ¥ o1 UF AaU-TeehiE e
i

(b) =& R fag & oft aETERl & I
afi gren  fore fordaw 21

(c) TEX Saqd TYH UY AHEIYHR =N
o o fomm )

(d) € Ggw TY & 47 T T4 & &1 8
e Ggw g e g fHatte T
STl 2|

111. 358 UgEle, fiw dme e @« & g9

et &7

(a) OIS B (REE oY)
(b) ST Feh (Sreifer o)
(0 shen o etz o)
(d) == b (fewru o)

112. 2017 % 3@ 99 §& ATHS] & AR WRd

g 6 o ged oS TR [F@HA W
IR (GDP) % MR W) &) Fefafea & @
FH-G1 AT WA | AT A &7

(a) SEHE
(b) Fo FHo
(c) W

(d)

GTHY-S-XGK/41A
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113. ‘omEe g & fawg # f=fafae #§ @ s9-w

we 27

(@) T8 GST @ Heftrd WEwH &7 IREH
§ IepEal YW wH F fou ww Gefai
2

(b) WiETEe BT & JART A TE HU o A AT
T Y GTH & 2

(c) F® TH WaR FEHA 8, S HEA THA
F TE H THEERR % Alhe TN 5
fore, arfirpfeua it Tt B

(d) TE ToEINE FERE qA AEE AN
frata Grwonet & wRHT ® g (TEH)
AT B

114. ‘@d (SWAYAM) #4127

(@ ©F Y a2, e st Afus
(Fraertr) Sepear it fam & el
3 safat f fga frem (e )
IR T

(b) TEWE HE G HH G AT ST
(MOOCs) ! T T&ct

(c) Tan & wefel #it vrfied sgn & fou
T GIhISHOT FISHT

(d) TF TER e, St e S @A
¥ R Remm weit (Roweedl) @
TR et B
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110. Which one of the following statements
regarding the Human Rights Council is
not correct?

(a) It is an inter-governmental body
within the United Nations system
made up of all members of the UN.

(b} It is responsible for the promotion
and protection of all human rights
around the globe.

(c) 1t replaced the former United
Nations Commission on Human
Rights.

(d) It is made up of 47 UN Member

States which are elected by the UN
General Assembly.

111. Ace athlete Neeraj Chopra is an
accomplished player in

(a) Hammer throw
(b) Javelin throw
(¢) Shot put throw

(d) Discus throw

112. According to the updated World Bank
data for 2017, India is the sixth biggest
economy of the world (in terms of GDP).
Which one of the following is not ahead
of India?

(a) Japan
(b) UK
(c) France

(d) Germany

GTHY-S-XGK/41A 41

113. Which one of the following is correct
about ‘Aaykar Setu’?

(a)

(b)

(c)

(d)

(@)

(b)

(c)

(d)

It is a mechanism for achieving
excellence in public sector delivery
related to GST.

With the use of a mobile app, it
facilitates online payment of taxes.

It is a communication strategy
designed to collect information and
build a database of tax defaulters.

It enables electronic filing and
processing of import and export
declarations.

114. SWAYAM is

a network that aims to tap the
talent pool of scientists and
entrepreneurs  towards global
excellence

a Massive Open Online Courses
(MOOCs) initiative on a national
platform

an empowerment scheme for
advancing the participation of girls
in education

a scheme that supports differently
abled children to pursue technical
education

[ P.T.O.
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115. PRASAD Yded @hiH & 3icqrid f=feifaa & @

fre & W H T uifife SR % w9 #
Taema & foru stfufutfa =& e mn 27

(@) TSR (TSRH)
(b) TGN (ITTEE)
(c) WY (TSHE)

(d) s (afearg)

116. 39 Y fwee fawret &1 9m =aEy, @

IcC fr¥e ¥ g oifs ¥ § (I 2018
%) va 7@ firen 21

(a) TgE g
(b) Gt e
(c) GfEA g

(d) Fa FFER

117. =g I wiosgamh & fou ga & d =7 5

s 3 Fafafaa @ 4 e e (S9) 5
Ty Ueh TgANTIcAsh e foharm 87

(@) THEHE
(b) T
(c) TeaEg

(d) TRER

GTHY-S-XGK/41A

118. ‘ged WRd & cd GH Gheard e
welteh (S0M) & |1 T I 87

(a) SR GG HA&0
(b) WG e o fm
(c) YR @S TEa

(d) YA & drmfes has (GI)

119. 1921-1922 # 3@y # HIW FW IE fy M
‘T MEIA 1 YR 3 @ R o forn?

(a) WTEH TER
(b) W gt
(c) «Te1 UHEE

(d) e TEH el

120. 1915 ¥ gHER F Aen & foFy d@eA i T
T fi?

(@) |ATET GH |1
(b) o9 TES
(c) &IV |

(d) &g e
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115. Under the PRASAD Tourism Scheme, 118. The tagline TInvaluable Treasures of
' which one of the following has not Incredible India’ is associated with the
been identified as a religious site for logo for
development?

(a) Archaeological Survey of India
fa) Ajmer (Rajasthan)

(b) India Tourism Development
(b) Haridwar (Uttarakhand) Corporation
(c) Somnath (Gujarat) fc) Geological Survey of India
(d) Velankanni (Tamil Nadu) (d) Geographical Indications (GI) of
India

116. Name the Indian cricketer who is not

inducte(:i to the ICC Cricket Hall of 119. Who took over the ‘Eka Movement’
Fame (till July 2018). started by the Congress in Awadh

during 1921-19227?
(a) Rahul Dravid

(a) Bhagwan Ahir
(b) Sunil Gavaskar

(b) Madari Pasi
(c) Sachin Tendulkar

(@ Anil Kambl (c) Baba Ramchandra
nil Kumble

(d) Shah Naeem Ata

117. The Central Water Commission has
recently entered into a collaborative

agreement with which one of the 120. Which organization was started at the

following entities for flood forecasting? Haridwar Kumbh Mela in 1915?"

{a) Skymet (a) Sanatan Dharma Sabha

(b) Google (b) Dev Samaj

(c) MetService (c) Brahmin Sabha

(d) AccuWeather (d) Hindu Mahasabha
GTHY-S-XGK/41A 43 : E-T.0.
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